STC Propo	sal Grados	K A					
STC PTOPO	sal-Grades	N-4					
Assessment G	uides are Discou	nted	\$20				
About 1/2 of Planners are gratis			\$39.95				2010
	grame		Ţ O O O O				
Grade K	Weather		539.95	17	\$9,179.15		
		Assessment Guide	59.95	17	\$1,019.15		
		STC Planner	39.95	8	\$319.60		
		STC Planner gratis	0	9	\$0.00		
		2 year replacement k	Kit	17	\$0.00	\$159.95	\$2,719.15
	Solids and		759.95	17	\$12,919.15	·	. ,
		Assessment Guide	59.95	17	\$1,019.15		
		STC Planner	39.95	8	\$319.60		
		STC Planner gratis	0	9	\$0.00		
		2 year replacement k	Cit	17	\$0.00	\$259.95	\$4,419.15
		,			\$0.00		. ,
Grade 1	Organism	S	899.95	17	\$15,299.15		
	, in the second	Assessment Guide	59.95	17	\$1,019.15		
		STC Planner	39.95	8	\$319.60		
		STC Planner gratis	0	9	\$0.00		
		2 year replacement k	Cit	17	\$0.00	\$545.95	\$9,281.15
	Comparin	g and Measuring	569.95	17	\$9,689.15		
		Assessment Guide	59.95	17	\$1,019.15		
		STC Planner	39.95	8	\$319.60		
		STC Planner gratis	0	9	\$0.00		
		2 year replacement Kit		17	\$0.00	\$99.95	\$1,699.15
	Life Cycle	of Butterfly	379.95	17	\$6,459.15		
		Assessment Guide	59.95	17	\$1,019.15		
		STC Planner	39.95	8	\$319.60		
		STC Planner gratis	0	9	\$0.00		
		2 year replacement k	Kit	17	\$0.00	\$379.95	\$6,459.15
Grade 2	Soils		549.95	21	\$11,548.95		
		Assessment Guide	59.95	21	\$1,258.95		
		STC Planner	39.95	10	\$399.50		
		STC Planner gratis	0	11	\$0.00		
		2 year replacement k	Kit	21	\$0.00	\$199.95	\$4,198.95

Grade 2	Changes	519.95	21	\$10,918.95		
	Assessment Guid	le 59.95	21	\$1,258.95		
	STC Planner	39.95	10	\$399.50		
	STC Planner gra	tis 0	11	\$0.00		
	2 year replaceme	nt Kit	21	\$0.00	\$195.95	\$4,114.95
	Plant Growth and Developm	en 689.95	21	\$14,488.95		
	Assessment Guid	le 59.95	21	\$1,258.95		
	STC Planner	39.95	10	\$399.50		
	STC Planner gra	tis	11	\$0.00		
	2 year replacement Kit		21	\$0.00	\$149.95	\$3,148.95
Grade 3	Animal Studies	1199.95	21	\$25,198.95		
	Assessment Guid	le 59.95	21	\$1,258.95		
	STC Planner	39.95	10	\$399.50		
	STC Planner gra	tis 0	11	\$0.00		
	2 year replacement Kit		21	\$0.00	\$499.95	\$10,498.95
	Rocks and Minerals	1149.95	21	\$24,148.95		
	Assessment Guid	le 59.95	21	\$1,258.95	\$42.00	\$882.00
	STC Planner	39.95	10	\$399.50		
	STC Planner gra	tis 0	11	\$0.00		
	2 year replacement Kit		21	\$0.00		
	Chemical Tests	899.95	21	\$18,898.95		
	Assessment Guid	le 59.95	21	\$1,258.95		
	STC Planner	39.95	10	\$399.50		
	STC Planner gra	tis 0	11	\$0.00		
	2 year replacement Kit		21	\$0.00	\$269.95	\$5,668.95
Grade 4	Electric Circuits	829.95	19	\$15,769.05		
	Assessment Guid	le 59.95	19	\$1,139.05		
	STC Planner	39.95	9	\$359.55		
	STC Planner gra	tis 0	10	\$0.00		
	2 year replacement Kit		19	\$0.00	\$195.95	\$3,723.05
	Motion and Design 979.95		19	\$18,619.05		
	Assessment Guid	le 59.95	19	\$1,139.05		
	STC Planner	39.95	9	\$359.55		
	STC Planner gra	tis 0	10	\$0.00		
	2 year replacement Kit		19	\$0.00	\$49.95	\$949.05

Grade 4	Ecosystems	949.95	19	\$18,049.05		
	Assessment Guide	59.95	19	\$1,139.05		
	STC Planner	39.95	9	\$359.55		
	STC Planner gratis	0	10	\$0.00		
	2 year replacement	Kit	19	\$0.00	\$398.95	\$7,580.05
				\$0.00		
				\$0.00		
				\$232,326.85		\$65,342.65

EOSS Dr	oposal-Grade 5					
FU33 FI	oposai-Grade 5					
Grade 5	Landforms	\$730.00	18	\$13,140.00		
	Tool Kit for Landf	orms \$62.00	18	\$1,116.00		
	2 Year Replacem	ent Kit	18	\$0.00	\$11.00	\$198.00
	Levers and Pulleys	\$710.00	18	\$12,780.00		
	2 Year Replacem	ent Kit	18	\$0.00	\$7.95	\$143.10
	Water Planet	\$1,122.00	18	\$20,196.00		
	2 Year Replacem	ent Kit	18	\$0.00	\$18.00	\$324.00
				\$47,232.00		\$665.10
					Total	\$47,897.10